Division par 10° (E)

49 + 103 =

24 + 103

74 =+ 103

40 =~ 103

84 =+ 10°% =

89 - 103 =

25 +10% =

78 +~10% =

22 + 103

1+103=

Trouvez chaque quotient.

34 +10%=

11 =103

89 =+ 103

43 + 103

26 +10% =

34 +10° =

93 +10° =

72 +10% =

99 =+ 103

9103 =
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Division par 10° (E) Solutions

49 +10° = 0,049

24 +10°=0,024

74 +10° = 0,074

40 + 103 = 0,04

84 + 10°=0,084

89 + 10° = 0,089

25 +10°=0,025

78 +10°=0,078

22 +10°=0,022

1+10°=0,001

Trouvez chaque quotient.

34 +10°=0,034

11 +10°=0,011

89 + 10° = 0,089

43 + 103 = 0,043

26 +10°=0,026

34 +10°=0,034

93 +10°=0,093

72 +10°=0,072

99 + 10°= 0,099

9 +10%=10,009
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